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PART II / 9Tt II
MATHEMATICS / Tifora

The perimeter of a triangular field is
540 metres and the ratio of its sides is
5:12: 13. What will be the area of this field ?

(A) 9720 sq. metre
(B) 9320 sq. metre
(C) . 9450 sq. metre
(D) 9560 sq. metre

The sum of three numbers is 392. If the ratio
of first number to second number is 2 : 3 and
the ratio of second number to third number is
5 : 8, then the third number is

(A) 120
(B) 176
(© 192
(D) 162
What least fraction must be subtracted from

the square root of 930-25 so that the result is a
whole number ?

(A) (B)

© (D)

O DO
Wit O]

300 gm of sugar solution has 40% sugar in it.

26. UH BYERR @a w1 R 540 WX ? SR
TG YT H A9 5:12: 138 | 3H @
T &IBe AT BT 2 , -
&) 9720 T i f—3§>‘;3§”; .
(B) 9320 a7 Hiex
(C) 9450 it Hiex
(Dy ?560311‘1#&

27. o TR %1 IThS 392 @ | Afe weelt @

% gEQ W ¥ U 2 : 3 8 a1 gEdl wed
1 AT TEN ¥ U 5 8 8, q1 ARl T
gt

(A) 120
(B) 176
ey 192
(D) 162
28, 930-25 % TE § HH-A1 TEH Biel O W™
e e e gftormm e qui S S 2
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© 3 ® =

29. 300 U9 % =1 o faorRE § 409 <+ 2 | sEd
forat <fht firemmg ste arfee faem o = 509

1 x‘:ze:’)/%_

How much sugar should be added to make it 7 S 9
50% in the solution ? ‘
L
(A) 40gm
(B) 60gm (B) 60—
(C) 25gm - (C) 25UM
(D) 45gm (D) 4579
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(5)

The radius of a wheel is 21 cm. How many | 30.

rounds will it take to cover the distance of
792 metres ?

D

T ufeq 1 B 21aft 2 | 790 i B gh
T H I v T ;AT B2

(A) 300 |
(A) 300 (B) 400
(B) 400 \/(’C') 600
(C) 600 D) 200
(D) 200

The prices of a scooter and a moped are in the
ratio of 9 : 5. If a scooter costs T 4,200 more
than a moped, then the price of the moped is
(A) ¥ 5,250

(B) ¥ 5,700

(C) ¥ 6,300

(D) ¥ 3,350

Which fraction should be added to the sum of | 32.

3 4

SZ’ 43 and 7 % to make the result a whole

number ?
1he

20
1

(A)
(B)

(©) 20
1
(D) T

If 27% = e , then what is the value of i?
3* x4

B) 4
(C) 10
(D) 8

31.

33.

T TR AR TH HUS & oAt 1 A 9: 5
2 | It T TR F T TH AOE F g |
T 4,200 e B, @ MU HT G B
_(A¥ % 5,250

(B) ¥ 5,700

(C) 6,300

(D) ¥ 3,350

5%,4%313( 7-21 % Jea # wH-A i e
e e aRoms T qut der e 2
’ | G
20
1
40

(A)

(B)

40 3
- _/tC’):16

il

D %
()10

If 27X=3ix, @ L wram e ame

5
a5 16
(B) 4
© 10
® 8
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If the circumference of a circle is 18:6 cm more
than its diameter, then what is the diameter

PS-1

34, IR TH ga H Ry IoH =W ¥ 186 wl

aiferes 8, ) 99 1 A T A 2

of the circle ? (A) 7-84 QW
(A) T-84cm | (B)" 868 arft
(B) 868 cm (C) 8-84 Tt
(C) 884cm (D) 7-54 |t
(D) 1754 cm

The HCF and LCM of two numbers are 12 and
2448 respectively. If the difference of the
numbers is 60, then the sum of the numbers is

(A) 284
(B) 248
(C) 204
(D) 348

A man buys 10 articles for ¥ 8 and sells them
at the rate of ¥ 1:25 per article. His gain

A TR w1 HEaW wWHEds (HCF) 3R
TN FAGIE (LCM) AW 12 3R 2448 |
If TEmst w1 IR 60 B, A1 TEASA H
ATHSA BT

(A) 284

(B) 248

(Cy 204

\_BJ 348
36. 1% =fe T 8 # 10 a&g Wi ¢ o 3%

% 1-25 Wit a%q 1 o W a1 B | IEH1 Whewd
9 2

percent is

@ 191% @ 191%
2 2

(B) 50% (B) 50%

(©) 56:11—% ey 56:11—%

D) 20% D) 20%

The perimeter of a top surface of a rectangular 37.

T AR A hl FHU Herg 1 qiEmd 28 Hi.

table is 28 m and its area is 48 m?. What is
the length of the hypotenuse of the table ?

(A) 12m
(B) 12:6m
(C) 5m
(D) 10m

AD)

2 3 Taw SIwd 48 M2 R | WH & HO HI
AT T R 2

(A) 127

(B) 1254

) 5.

10 9.
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38. The price of a car is increased by 30% before | gg. w5 W U foRdl &R &£ FHT 30% a’aé Skl
the budget and in the budgetlit'is increased| @ ﬁ—{ T2 1 B 10% e 9l & | HR 3]
again Py 10%. The Fotal percentage increase in #rag A ol S IREI! -é\[r,f3 H
the price of the car is 1
(A) 41% (A 41%
(B) 44% . (B) 44%
(C) 43% srACH) 3%
D) 42% (D) 2%

' 39, e NI IURCIE] F 3 ot
39. A sum of money doubles itself in 10 years at /9’ ;?é b o q:n'{%lq) CLil Eucll

simple interest. What is the rate of interest ?

(A) 12% (Ay 12%
(B) '10% /chﬁ 109 -
(C) 25% C) 25%
(D) 14% ' (D) 14%

40. The differences between a number obtained by | 49, foreft &@m 1 8% Sred M 3% TR ¥ 9H

increasing a certain: number by 8% and that el ¥ & Hl AR 4072 | I &I 2
obtained by diminishing it by 3% is 407. The

original number is ) (A) 3600
(A) 3600 _ABY 3700
(B) 3700 (C) 3400

(C) 3400 , (D) 3500

L 41, o B @ 9T 30 dft } SR sEH &R

41. The perimeter of a triangle is 80 cm and its 30 o2 2 | afe P A ey wg g
area is 30 cm?. If the length of the largest side TS 13 ft %, T ﬁ‘ﬁ'\ﬂ F gl o YT <=1

of the triangle is 13 cm, then what is the Bt 2
smallest side of the triangle ?

(A) 3FH
(A) 3cm - e
(B) 5cm 0 af
(C) 6cm (©) 6@1qer
(D) 4cm (I

SPACE FOR ROUGH WORK / T3 @rd % forg g

P [_f%&) ’a .sbdh"}'& o~ L~
' 3
‘ %#’—f—g TR LA = /
3 & 1




‘www.maKemygxam.ln - Powered by Ib |

D (8) PS-1
42. If the interest on a sum of money be 1 paisa 42. 3 Tt gaahy W &S 1 TE gy wgE ufy
per rupee per month, what is the rate per cent
per annum ? uTE &, @ ik TS 3T 1 W9 &)1 &y 2
(A) 15% (A 15%
il
B 10%% ®) 102%
©) 12% Cr 12%
D) 10% D) 10%
43. InAABC,if LA=90° a=25cm, b=7cm |4 AAB%:ﬁ ﬁ,?hwﬁz LA = 90°, g;‘n : 25
then what is the value of tan B ? b‘ =THHL, @1 tan B 1 TH 1 :
7 24 s By 24
@ ® = AT i e
24 7 g A B ik
(o @ 5 © = B o
44. The standard deviation of a set of|44. 50 REGIR T HHE T A fereres 8¢ | afe
50 observations is 8. If each observation is IRAE J&0 K 2 F o f ST, A ame
multiplied by 2, then the value of standard e =1 wm BRT
deviation will be (A) 4 (B) 8
(A) 4 (B) 8
16 (D) 2
C) 16 D) 2 T\ : i
9 _ 45. Wai\ﬁmﬁmwmmam,_
45. A man travelled — of his journey by train, 11 22
e 11 HIT HR GRT a1 WY 1 Fereivfier deat =t o
55 Dy car and walked the remaining T FT B | 98 Te R TR ?
22
1 kilometre. How far did he go ? /ﬂ({ 22 fereft
(A) 22km (B) 24 forrt
(B) 24}m (C) 33 feprft
(C) 33km fprft
(D) 27km s St ‘ﬁ s
46. For what value of x will the mode of the 16. x % e wm & %TQ o oan Bl
following data be 27 ? - RN 27 & 2 ,
25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25 25, 26, 27, 23, 27,26, 24, x, 27, 26, 25, 25
(A) 25 (B) 26 (A) 25 (B) 26
(C) 27 D) 24 A o7 (D) 24
SPACE FOR ROUGH WORK / % @Td % ferq sz
wp S,y
v A L AL '
bR Q
: D .
il 7 29 23
7 ,
F20T gy p 4 =
24 &
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A man is twice as fast as a woman and a
woman is twice as fast as a boy. If all of them
i.e., a man, a woman and a boy can finish a
work together in 4 days, in how many days
will a boy do it alone ?

A)
(B)
©)
(D)

14 days
28 days
7 days

21 days

While computing mean of grouped data, we
assume the frequencies are

(A)
(B)
©)
(D)

centred at the class marks of the classes
centred at the upper limits of the classes
centred at the lower limits of the classes

evenly distributed over all the classes

The sum of mean and median of 1, 6, 8, 3, 2 is
A 7 (B) 10
(C) 12 (D) 6

In a mixture of 60 litres, the ratio of acid and
water is 2 : 1. What amount of water must be
added to make the ratio of acid and water as
1297

(A)
(B)
©
(D)

52 litres
60 litres
72 litres
44 litres

47. freht wm # w T, O Afeen @ g O B

mﬁ:ﬂaﬁ@:m,.
ﬁawm$qaﬁ4ﬁ=ﬁﬁwmmﬁ
A T wew Ik W e A wow
wme?

A 14f=
/eB'Y 28 fe7
© 7fF
21 f@@

48. aiffhd MRS T WEA AfERld FA THI, &

(B) @i s 39 HimeTt | Hfa &
©) it & Fr dreli wHa §
D) & 1 | THE &9 & §fed §

49. 1,6, 8,3,2 % H1ed IR AIEIHT H1 NTHA 2

Pl

C 12

(B) 10
(D) 6

50. 60 ofet firzor #, It ST U T U@ 2: 1
2 | 3o e e Ut firetmen S @t o
afft ot %1 3T 1: 28 ST 2
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PART III / 9T 111
GENERAL AWARENESS / |THT TR

The minimum age limit for becoming a
candidate for Lok Sabha elections is

(A) 20 years (B) 30 years
(C) 25 years (D) 18years
Soft Bank, and Foxconn

Technology Group have formed a joint
venture, SBG Cleantech which will invest
around $ 20 billion over 10 years into green
energy projects.

(A)
(B)
(®)
(D)

Bharti Enterprises
Adani Limited
Tata Group
Reliance Industries

Oxygen in our blood is transported by a
protein named
(A) keratin

(C) myoglobin

Which country won the Copa America 2015 ?
(A) Brazil

(B) Peru

(C) Chile

(D) Argentina

(B)
(D)

collagen
haemoglobin

The Direct Action Day on August 16, 1946 was
observed by the

(A) Sikh League

(B) Hindu League

(C) Muslim League

(D) Christian League

The Chauri-Chaura incident took place on
(A) 5 May, 1922

(B) 13 March, 1922

(C) 5 February, 1922

(D) 3 March, 1922

The most eleéctronegative element among the
following is

(A) Bromine

(B) Fluorine

(C) Oxygen :

(D) Sodium ”

|57.

51. Wi AT gAET & I Iufigar s 1 =ad

g et 2 2
(A) 209§ (B) 30a
ey 259d (D) 189
52. HIW S, ST BIFERA TaATeATS

9 3 T TIH IUHA SBG FAHe® I 8, Al
M e Weee § 10 9§ W ST
¢ 20 faferm =1 fraw = |
AR W T

(B) e fafies

(C) T

(Dy frama 3vee

AR TRA § TS 1 IREET T T g
gran 8, Frwest am 8

() TR (B) wIASH

(Cr FEMEEE By Emrte
54. G 2w 3 HiuT e 2015 SfidT B 2

(A) ST

(B) U®

fareft

(Dy AT

16 3TTE, 1946 ! Tegel HaTs feag Tamm T
a) Fra & gr

(B) fomg & g
ey gfeem fm gr

(D) ¥&T8 S g/
56. TR T e g o 2

&) 57, 1922

(By 139, 1922

(C) 5®Ed, 1922

(D) 3HM, 1922

frafofgs @ @ meg s =ufagd @
HEATR ?

(A) FHE
AB) T

(C) 3iTeeisH

(D) uifemm

53.

55.
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In the fourth week of June 2015, a pact on
waste management was signed between two
entrepreneurs and several civic bodies in

(A)
(B)
(®)
(D)

Assam
Gujarat
Maharashtra

Kerala

Who was selected recently as the president of
International Cricket Council ?

(A)
(B)
©
(D)

v N. Srinivasan
Zaheer Abbas
Mustafa Kamal

Jagmohan Dalmiya

What was the main aim of Civil Disobedience
Movement ?

(A)
(B)
©)
(D)

Against salt tax
Against August statement
Against Round Table Conference

The reactionist approach of Winston
Churchill

The property of a substance to absorb
moisture from air on exposure is called

(A)
(B)
(©)
(D)

Efflorescence
Deliquescence
Desiccation

Osmosis

60.

61.

62.

63.

(11) D
What does NPP stand for ? 58. WAL, @ @ AN B 2
(A) National Population Project (A) TS YRSH Toiee
(B) National Population Policy _AB) ENEN] lﬁ'gﬁsr-l gifereft
‘(C) National Population Production (Cy H9Hd tﬁg’é’?ﬂ IEGRIE]
(D) National Population Programme (D) A ‘ﬁ'ﬂﬁ?ﬂ i
India’s highest annual rainfall is reported at |59, ¥Rd 1 I=an aiffr a9t FET W S A TS
(A) Chamba, Himachal Pradesh % ?
(B) Namchi, Sikkim (&) e, feHTe S
(C) Churu, Rajasthan (B) =, fafewn
(D) Mawsynram, Meghalaya (C) &, TNEH

I3 2015 % NI T H, q IJAET I’ 3
it et % e iy wery W ameial
7 B3 AT ?

Pt

(B) TSI
(C) HeWg

(D) &

B & H TP forehe wefRe & e &
Y 4 foRd g1 T B 2
Ay . HfifemER

o s

(C) TEIBI FHATA
(D) SHTHIET STt

Tl TaS ITCIeH 1 G IR a1 o1 2
T W & fawg

(B) 3TTEd % & fovg

(C) T U geHeH & foeg

(D) foeea afde = wfafsramardt sarm

Feored (FTERT) W foredt uerdt @ g @ T
1 SFFINGU FH o 0T B FET A 3

(A) TEpA

_AB) T

(C) oA

(D) 9EIT
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What is international migration ?

(A) Movement of people from one village to
another

(B) Movement of people between/among
countries

(C) Movement of people from urban to rural
areas

(D) Movement of people within a country

The Southernmost point of peninsular India,
Kanyakumari is situated

(A) South of the Equator

(B) South of the Tropic of Capricorn
(C) North of the Equator

(D) North of Tropic of Cancer

The place where the last Mughal emperor
Bahadurshah Zafar died was

(A) Delhi (B) Rangoon
(C) Gwalior (D) Agra

Development expenditure of the Central
Government does not include

(A) expenditure on economic services

(B) expenditure on social and community
services

(C) grant to States
(D) defence expenditure

What was the name given for the rescue
operations conducted by the Indian
Government during Nepal Earthquake
Tragedy ?

(A) Operation Maitri
(B) Operation Nepal
(C) Operation Abhaya
(D) Operation Sahay

Who among the following has a Cabinet rank ?
(A) The Attorney General of India
(B) The Leader of the Opposition

(C) The Governor of the Reserve Bank of
India :

(D) The Comptroller and Auditor General of
India

64. STAUYR THA (WTSHYH) HATR 2
(A) T Tifa § g A qH AT Bl HweH
By W & ot A AT T wEEH
(C) eI T wIEX & umfior & § wEeH
(D) 2w ° A e

65. TRIZME WRa 1 ol BR, w=HuH oo 2
(A) YoeE @ & o
(B) WeR 1@ o gfeaor |
\_(C) wed YT o IeR i
(D) %% T WA

66. 9E HHEAT TH ¥ TE A=A FIA GEER
FEIGEITE FH <hl 7eg 78 off ?
A) feeett LB) TE
(C) TR (D) 3R

67. T TR & famm = U e 737 2
(A) enfds Fast | =y
(B) @I Ud WTETRieh Heredl W 55
(©) T % fo sreEH
D) &I 5

68. A YHY FES * INH HRA @R GN
Henfera fery U seTe wRT (WER] STTEE)
HI-97 9 fer ™ 2
LAy  HTRER Bt
(B) SATREM AU
(C) HIWH 377
(D) 3NIWH TE™

69. TrfRed # & @M ez T 1 gl 8 2
(A) YT HT HEREET]
) fme =
(€) vrdr ford S 1 TER

(D) WA &1 s @ Aee@Edies
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The refineries at Mathura, Dighoi and Pahipat
are set up by

(A)
(B)
©

Hindustan Petroleum Corporation Ltd.
Bharat Petroleum Corporation Ltd.

Crude Distillation unit of Madras
Refineries Ltd. '

(D) Indian Oil Corporation Ltd.

Which of the following committees suggested
to incorporate Fundamental Duties in the
Constitution ?

(A)
(B)

(C) Narsimhan Committee

Swaran Singh Committee
Malhotra Committee

(D) Raghavan Committee

Pulses are a godd source of
(A) Fats

(B) Proteins

(©)
(D)

Vitamins
Carbohydrates

It is easier to roll a stone up a sloping road
than to lift it vertically upwards because

(A) work done in lifting the stone is equal to

rolling it.
(B) work done in rolling the stone is less
than in lifting it.
(C) work done in both is same but the rate of

doing work is less in rolling.

(D) work done in rolling the stone is more

than in lifting it.

What is known as the “Soul of the

- Constitution” ?

(A)
(B)
(©)
(D)

The Satpatha Brahmana and Taitriya
Brahmana are Brahmana texts of

(A)
(B)
(©)
(D)

Fundamental Rights

Directive Principles of State Policy
National Flag

Preamble

Yajurveda

Samaveda p
Atharvaveda

Rigveda

D

70. W, s ofR ariug o aftserormerd fhueh
2R eriua & T § 2
(A) Regem Ao wiiven fafies g
(B) WRd Yoiferam wiRee fafes g
©) Tgw ferTy fafits % %3 fefeewm

qfe g
D) 30 TR shianee fafite g

71. frefafes 3 @S9 fifa ¥ go S ®)
wfyum ¥ aflifea w0 &1 gama e 2
@) @ fig afuf
(B) Weam Tfufa
(cy Tfea afufa
(D) THed |iHfd
79. ol foERT 3T G B 8 2
(A) TE H
By I
() faafiemt =
(D) HIETEIESa
7. TG USH W U GohHI, T FuL H AN
330 T M e g § AR
(A) e W S # fomn T R 5@ g
¥ g BT 2 | g
LB Teo Y EFH § e TNk §R IAW
# e HH BT 2 |
(© @Ft e mn wE wae g R, R
aFH o HE FEH H G FH EA R
(D) TR N gedn # fen w5 38R
61 e 7 B B |
74, Frafofad # ¥ Rege “afoum $ amon” &
g H TR ?
(A) TS AFR
(B) T % Hfa frdze frgra
(C) TEH &5
Dy SETEE
5. A9y wEw IR afE s *
STEIVT TEITS ¢ |
A) TG
(B) Hmag
(C) 3Hudae
(D) g
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PART IV / 9T IV
RURAL DEVELOPMENT / yrefiot fereRTE

What is Uttar Pradesh’s rank among the
States of India in terms of area ‘3

(A) Third

(B) Fourth

(C) Fifth

(D) Second

What is the level of annual family income set
in the Ninth Five-Year Plan (1997 - 2002), for
BPL in rural areas ?

(A) ¥ 18,000
(B) < 25,000
(C) < 28,000
(D) ¥ 20,000

MGNREGA was launched in Uttar Pradesh in

which year ?

(A) 2006

(B) 2007
(C) 2008 -
(D) 2005

The social forestry programme aims at
large-scale tree plantation in all the following
areas except

(A)
(B)
(©)
(D)

in degraded forest reserves
on common lands unsuitable for cropping
in urban industrial estates '

along roads and railway tracks

Where are the major rail locomotive plants
located in Uttar Pradesh ?

(A)
(B)
©
(D)

Kanpur region
Aligarh region  +
Fatehpur region

Mughalsarai region

76. mﬁgﬁﬁwmmwﬁn@ﬁﬁ
FH-E1 T B 2
(Ay drEQ
(B) =
() ufedl

(D) g8
S et AT (1997 — 2002) H, FTHI &
¥ o ¢t w@. (BPL) % fow ffved A 7§ anfie
a3 S T8 ?
(Ay T 18,000
(B) ¥ 25,000
(C) ¥ 28,000
D) ¥ 20,000

78, I weW ¥ fEm ¥ A - Rci e e LA
(MGNREGA) JTe et Tt 2

AY

(B)

©)

(D)

79. e T s i Sew et
a5t & w3 YR W gEmRw @ e
(A) ﬁx:ﬂ?aa:ramf‘mérﬁﬁ
B wEE % R I A G W
L) T s weaget o
(D) TSH TE & wRfE & wE-E

71.

2006
2007
2008
2005
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(©) FORR &
\_(D) TR &



PS-1

81.

82.

83.

84.

www.makemyexam.in - Powered by IBT

WWW Ci“\ojgaiﬁtws.com

(15)

Which division is considered as the hub of the
world’s finest carpet industries ?

(A) Devipatan

(B) Aligarh

(C) Azamgarh

(D) Mirzapur

What is meant by Jamabandi ?

(A) Cloth copy of Patwari’s Map

(B) Cultivation record

(C) Mapping sheet

(D) Rights of Land Records

Which website has been designed -and
developed to keep the financial health of the
State of Uttar Pradesh and to bring

transparency into Government transactions ?

(A) Srishti

(B) NIC

(C) Arthashastra

(D) Koshvani -

Which classical dance form originated in Uttar
Pradesh ?

(A) Bharat Natyam

(B) Kuchipudi

(C) Ghoomar ‘

(D) Kathak

81.

82.

83.

84.

(D)
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Under the National Rural Drinking Water
Programme (NRDWP), by 2022 every rural
person in the country should have access to
how many litres per capita per day of water
within their household premises or at a
horizontal or vertical distance of not more

than 50 metres from their household ?
(A) 170

(B) 80

(C) 100

(D) 60

As per the Census of India 2011, the
population density per square kilometer of
Uttar Pradesh is

(A) 720
(B) 829
920

(D) 620

In November 2014, the Uttar Pradesh
government made a provision of ¥

crores for construction of toilets in rural areas

under Swachh Bharat Mission (rural).
(A) 315
(B) 556
(C) 685
(D) 123

How many major divisions does Uttar Pradesh
have along with 75 districts ?

(A) 23
® 27
© 32 :
18 ‘

85.

86.

87.
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U g 9 Sl FEs%E (NRDWP) %
Fp=ta, 2022 9% 91§ g U0l A B IR
e el # A I W ¥ A W FEiR
fom § 50 e 1 =t § ww W e e ofd
=fh wfifed T Sl ITersy B =1fRe ?

70 |

(B) 80.
(Cy

(D)

100
60

W h FEIVET 2011 % IATER, IR TS B
ofe ot feratrefien ST Bed &1 8 2

(A) 720
829
920

620

©
(D)

s aia e (i) % s, o &=
¥ yiemert & fmfu % fog Fawe, 2014 § IHW
oY TR 4 T IS H JE@UH
foa |

(A)
(B)
)
(D)

315
556
685
123

I gew & 75 Tl afed forad Yg@ Hvew @ 2
(A) b
(B)
©)
L(m

23
27
32
18
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In which year was the Uttar Pradesh Roadside
Land Control Act passed ?

(A) 1947

(B) 1952

(C) 1956

(D) 1945

What is the frequency of checks expected to be
done under the Mid-day Meal Programme, for
monitoring of cleanliness in cooking, serving
and consumption ?

(A) Fortnightly

(B) Daily

Quarterly

(D) Weekly

What
maximum amount of subsidy available under
Ambedkar Vishesh Rozgar Yojana (AVRY) for

general category beneficiaries ?

(A)

is the percentage unit cost and

33%, ¥ 10,000
B) 25%, ¥ 7,500
(C) 33%, ¥ 7,500

(D) 25%, ¥ 10,000

What percentage of seats must be reserved for
women in a gram panchayat ?

(A) 20%
(B) 33%

50% f

(D) 10%

89.

90.

91.

LAB)

B

D
IR Yo Tomn e srfufam e ad |
urita femart mam om. 2

(A)
(B)
(el
D)

1947
1952
1956
1945

g WS BRBRA (Mid-day  Meal
Programme) + 3176[7?3, TG WIS & Tehl,
e d ITHT HH H Tesdl &l eI T b
fore Siter-gsara ferat smafa o seh anfey -

(A) UTfeTeR

B HEED
©) i
(D) HredrEsh
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(A) 33%, T 10,000
25%, T 7,500
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(D)

33%, T 7,500
25%, ¥ 10,000

0. e § Hhens b R R vhem

TG, TRIEE B SMRT 2

(A) 20%
33%
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Which one among the following serves as the
subordinate judicial service of the State of

Uttar Pradesh ?
(A) The district court of Etawah
(B) The district court of Chandauli

(®))
(D)

The district court of Pilibhit

The district court of Banda

During British rule which official did the
registration of land in Uttar Pradesh ?

(A)
(B)

Kazi
Governor
(€, Clerk

(D) Lekhapal

How many seats in the Rajya Sabha are from
Uttar Pradesh ?

(A) 31
(B)
©

(D)

62
29
40

Which scheme was launched with é view to
benefit BPL families who have been left out of

the BPL lists ?
(A) Prime Minister Rozgar Yojana
(B)

(©)

Samajwadi Pension Scheme

Mukhya Mantrj Mahamaya Gareeb
Arthik Madad Yojana

(D) Samajwadi Awaas Yojana

PS-1
93. ﬁm%f@ﬁﬁﬁﬁ?-mqaawmrm%
syefiresy =i BT % 9 A HH FC B ?

\A) T e R
(B) =l fer =

() Wi fem =med
(D) sfer frem =T

o4 TaRPw WER H ERW IR W F g S
fra it g foRa ST o 2

\_AAY TS

95. o @ 3 e @3 TORm A § 2

AA 31
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© 29

(D) 40
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\(B) THETE G
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Which type of mills does Uttar Pradesh have
in the highest number ?

(A) Sugar

(B) Rice

(C) Steel rolling

(D) Cloth

The full form of SGSY 1S

(A) Swarnjayanti Gramin Seva Yojana

(B) Swarnjayanti Gram Swarozgar Yojana

©)

Swarnjayanti Gram Sadak Yojana

(D)

Swarnjayanti Gram Suraksha Yojana

The sex ratio in Uttar Pradesh has moved

from 898 in year 2001 to _____ in year 2011.
(A) 922

(B) 925
(C) 930

(D) 912

One bigha in Central India is equal to how
many hectares ?

(A) 0-3058 hectare

(B) 0-2529 hectare
(C) 0-4425 hectare *

(D) 02025 hectare

www.eRojgasrNews.
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